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information can be found)�����

 1.  Problem 1:  Low Productivity

      (Poor Job Planning)



 Importance:  Additional travel im-

 plies 1 hour/day/employee (250 

 days, 100 employees)



 Causes:  

 - Correct performance punished

    because completing an assign-

    ment early means more work

 - Incorrect performance rewarded

    because additional pay for over-

    time

 - Lack of practice in course





 2.  Problem 2:  Dirt in Protectors

      (Dust)



 Importance:  Repair visits in 20%

 of the 80,000 cases/year (15 mins

 each)



 Causes:  The installers are not

 aware of the consequences





 3.  Problem 3:  No cable pair

      assigned)



 Importance:  1/2 hour loss in 1%

 of cases (200,000/year)



 Causes:Complicated procedures

 (lack of skill/knowledge of 

 dispatchers)��

 1 x 250 x 100 

 x $12 = 

   $300,000





























 20% x 1/4 x

 80,000 x $12

 = $48,000

















 1% x 200,000 

 x 1/2 x $12 

 = $ 12,000��
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 (50% recovery as Training Dept. 

 cannot control a non-training

 solution)











 (short-term)



 (long-term)  Study = $5,000 estimate

 Total cost unknown�
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 4.  Problem 4:  Reversed Polarity



 Importance:  Repeated visits in 

 40% of the cases (1,000/year, 20 

 minutes each)



 Causes:

 Only new recruits have received

 training on the new terminal
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 1,000 x 1/3 x 

 $12 = $4,000����������
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 Priority 1 because the solution is

 cheap and easy to implement�
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